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f detR,(—0) =1, det(4,B,D) =0, HIANEE 6¢€R F
det(MR(O) —I)=0,

XEG)RTFE. WMIERAT p=1. EEREHEBE ¢=1, W B,=10, K28R
RUEEME F T o fOB, HIRFMTEDA N p= 1. AERMNEBE ¢—= 1. BIM—1 BFIE
FHRBERS UAMEBAER.

=% FH-POEHCEMIASEN6E 4 OB, Kb p=2. Mn@EES)REBPE
HiC S, B3 0.(6) = (MR(6) — IDR(—6)(4,D) ERiL

det0,(8) = (—1)¥2(1 — cosO)detE,,  O€R,

Hrp Eo YR E hilfl R 1 17%E N + 1 TEF&r (2N —2) X (2N —2) BriER,
K rankE = 2N — 2, detE; 5% 0, BT detR(—6) =1, det(4, D) =0, AMEBHLHE
PER, det(MR(8) —I)=(—1)V2(1 — cosB)detE,/det(A4,D). KB LET6)RX, EiE
3 1S,

2 % X 13
D11 BB, REFE AR, 1990, 7:673—682,



